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1. Please propose a plausible mechanism for the following transformation:

1) CH,=CHMgBr, THF, -78 to 20 °C, 98%

2) TBHP, VO({acac)y, benzene/H,0, reflux, 74% HO

3) SnBry, CHCly, 0 °C, 65%

C. M. Marson et al., Tetrahedron Lett., 44, 141 (2003)

2. Please propose a plausible mechanism for the following transformation:

1) BugNI®, BBrg=

e

co o
PhSe— BuSnH -30°C
o CoMe  AIBN m-CPBA  2) CHoN, =\ .CO:Me
7 - [011H14oﬁ] > »
sunlump 95% CHoClo  75% (2steps)  MeOLC oo
o 300W 50%

73% :
° =theoretically 2 eq



